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Statistics/Data analysis

User: Yong Yi Lee
Project: Target D

codebook
study_id Study identifier
Type: Numeric (int) NOTE: Follow-up periods are
ype: denoted by the following
Range: [1,4371] Units: 1 suffixes appended to
Unique values: 1,868 Missing .: ©/1,868 each variable name.
Mean: 2403.31 _t = Baseline
Std. dev.: 1206.56 _0 = Baseline
_1 = Baseline
Percentiles: 10% 25% 50% 75% 90% _2 = 3-month follow-up
681 1389.5 2445 3445.5 3992 3 = 12-month ﬂﬂlom#up
group Randomisation group
Type: Numeric (byte)
Label: group_1bl
Range: [0,1] Units: 1
Unique values: 2 Missing .: ©/1,868
Tabulation: Freq. Numeric
935 0 Control
933 1 Intervention

phqdep_total_impute_t

Depression - PHQ-9 score (baseline)

Type:

Range:
Unique values:

Mean:
Std. dev.:

Percentiles:

Numeric (float)

[0,27]
28

9.23233
5.71362

10% 25%
3 5

Units: 1
Missing .: 0/1,868

50% 75% 90%

clinic_o

Clinic

Type:

Range:
Unique values:

Mean:
Std. dev.:

Percentiles:

Numeric (byte)

[1,14]
14

8.93737
3.65385

10% 25%
4 5

Units: 1
Missing .: ©/1,868

50% 75% 90%
10 12 13

risk

Prognostic group

Type:
Label:

Range:
Unique values:

Numeric (byte)
risk

[1,3]
3

Units: 1
Missing .: ©/1,868
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Tabulation: Freq. Numeric Label
1,357 1 Mild
288 2 Moderate
223 3 Severe
age_num_0 Age
Type: Numeric (double)
Range: [18,65] Units: 1
Unique values: 48 Missing .: 0/1,868
Mean: 35.531
Std. dev.: 12.0869
Percentiles: 10% 25% 50% 75% 90%
22 26 33 a4 55
gender_0 Gender
Type: Numeric (byte)
Label: gender
Range: [0,2] Units: 1
Unique values: 3 Missing .: 0/1,868
Tabulation: Freq. Numeric Label
590 @ Male
1,270 1 Female
8 2 Other
costintv Intervention cost (applies to intervention group only)
Type: Numeric (float)
Range: [0,676.96] Units: .e1
Unique values: 4 Missing .: 0/1,868
Tabulation: Freq. Value
935 ©
679 14.96
143 132.96001
111 676.96002

SA1_costintv

Intervention cost under sensitivity analysis incorporating sunk costs for Target-D

Type:

Range:
Unique values:

Tabulation:

CPT research & development

Numeric (float)

[0,678.3] Units: .1
4 Missing .: ©/1,868
Freq. Value

935 ©

679 16.299999

143 134.3

111 678.29999

SA2_costintv

Intervention cost under sensitivity analysis with higher unit cost for moderate

Type:

prognostic group
Numeric (float)
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Range:
Unique values:

Tabulation:

Friday January 21 15:07:34 2022

[0,676.96]
4

Freq. Value
935 ©
679 14.96
143 222.96001
111 676.96002

Page

Units:
Missing .:

o/

3

.01

1,868

costtothealthprof_2

Total cost of health professional visits (3 months)

Type: Numeric (float)
Range: [0,4021.0701] Units: 1.000e-06
Unique values: 711 Missing .: 809/1,868
Mean: 340.673
Std. dev.: 418.347
Percentiles: 10% 25% 50% 75% 90%
0 42.5987 228.087 491.278 806.205
costtotervisit_2 Total cost of emergency department visits (3 months)
Type: Numeric (float)
Range: [0,2236.36] Units: .01
Unique values: 8 Missing .: 846/1,868
Tabulation: Freq. Value
953 o
1 4.5
2 554.59003
53 559.09003
6 659.09003
5 1118.1801
1 1188.1801
1 2236.3601
846 .
costtotovnstay_2 Total cost of overnight hospital stays (3 months)
Type: Numeric (float)
Range: [0,26772.9] Units: .1
Unique values: 11 Missing .: 847/1,868
Mean: 252.687
Std. dev.: 1899.1
Percentiles: 10% 25% 50% 75% 90%
7] 7] 7] 7] 7]
costtotdiagtest_2 Total cost of diagnostic tests (3 months)
Type: Numeric (float)
Range: [0,2028.84] Units: .e1
Unique values: 130 Missing .: 835/1,868
Mean: 67.4869
Std. dev.: 165.32
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Percentiles: 10% 25% 50% 75% 90%
7] 7] 7] 49.76 177.23
costtotmed_2 Total cost of medications (3 months)

Type: Numeric (float)

Range: [0,488.25] Units: .e1
Unique values: 118 Missing .: 844/1,868

Mean: 17.6252
Std. dev.: 41.426

Percentiles: 10% 25% 50% 75% 90%
0 0 0 23.17 55.93
costtothealthprof_3 Total cost of health professional visits (12 months)

Type: Numeric (float)

Range: [0,6171.1445] Units: 1.000e-06
Unique values: 602 Missing .: 1,070/1,868

Mean: 503.983
Std. dev.: 586.04

Percentiles: 10% 25% 50% 75% 90%
2] 83.852 301.507 741.049 1280.5

costtotervisit_3 Total cost of emergency department visits (12 months)

Type: Numeric (float)

Range: [0,1677.27] Units: .e1
Unique values: 9 Missing .: 1,113/1,868

Tabulation: Freq. Value
687 ©

1 99

4 554,59003
5 559.09003
1 563.59003
2 659.09003
3 1118.1801
1 1218.1801
1 1677.27
3

costtotovnstay_3 Total cost of overnight hospital stays (12 months)

Type: Numeric (float)

Range: [0,24339] Units: .1
Unique values: 10 Missing .: 1,113/1,868

Mean: 538.359
Std. dev.: 2365.24

Percentiles: 10% 25% 50% 75% 90%
2] 2] 2] 2] 2]
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costtotdiagtest_3

Total cost of diagnostic tests (12 months)

Type: Numeric (float)
Range: [0,2419.07] Units: .01
Unique values: 145 Missing .: 1,104/1,868
Mean: 101.61
Std. dev.: 217.935
Percentiles: 10% 25% 50% 75% 90%
7] 7] 24.88 82.16 279.91
costtotmed_3 Total cost of medications (12 months)
Type: Numeric (float)
Range: [0,995.05] Units: .e1
Unique values: 114 Missing .: 1,107/1,868
Mean: 53.5464
Std. dev.: 115.896
Percentiles: 10% 25% 50% 75% 90%
0 0 0 79.02 153.03
costtotprodloss_2 Total productivity losses (3 months)
Type: Numeric (float)
Range: [0,45090.672] Units: .0001
Unique values: 238 Missing .: 841/1,868
Mean: 4697.63
Std. dev.: 5586.42
Percentiles: 10% 25% 50% 75% 90%
7] 7] 3119.77 7737.8 11561.3
costtotprodloss_3 Total productivity losses (12 months)
Type: Numeric (float)
Range: [0,82854.328] Units: .ee01
Unique values: 253 Missing .: 1,103/1,868
Mean: 11459
Std. dev.: 12577.1
Percentiles: 10% 25% 50% 75% 90%
0 0 8438.29 18381.3 26852
AQoL8DUtility 1 AQoL-8D utility score (baseline)
Type: Numeric (float)
Range: [.11649436,1] Units: 1.000e-08
Unique values: 1,684 Missing .: 184/1,868
Mean: .569382
Std. dev.: .196468
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Percentiles: 10% 25% 50% 75% 90%
.3115 .422853 .553744 .714437 .847783

AQoL8DUtility 2 AQoL-8D utility score (3 months)

Type: Numeric (float)

Range: [.11332551,1] Units: 1.000e-08
Unique values: 1,012 Missing .: 856/1,868

Mean: .592451
Std. dev.: .203951

Percentiles: 10% 25% 50% 75% 90%
.321678 .431112 .58164 .749469 .878988

AQoL8DUtility 3 AQoL-8D utility score (12 months)

Type: Numeric (float)

Range: [.14523593,.99968475] Units: 1.000e-08
Unique values: 750 Missing .: 1,118/1,868

Mean: .609107
Std. dev.: .204689

Percentiles: 10% 25% 50% 75% 90%
.330536 .45506 .607112 .782252 .888144
phqdep_total_impute_2 Depression - PHQ-9 score (3 months)

Type: Numeric (float)

Range: [0,27] Units: 1
Unique values: 28 Missing .: 606/1,868

Mean: 8.73296
Std. dev.: 6.2971

Percentiles: 10% 25% 50% 75% 90%
1 4 7 13 18
phqdep_total_impute_3 Depression - PHQ-9 score (12 months)

Type: Numeric (float)

Range: [0,27] Units: 1
Unique values: 28 Missing .: 703/1,868

Mean: 8.11674
Std. dev.: 6.03413

Percentiles: 10% 25% 50% 75% 90%
1 3 7 12 17
education_rec_0 Highest level of education attained

Type: Numeric (float)
Label: education_rec
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Range:
Unique values:

Tabulation:

Friday January 21 15:07:35 2022

[1,4]
4

Freq.
221

282
441
924

Numeric
1

w

Page 7
Units: 1
Missing .: ©/1,868

Label

<Year 10/Year 10/equiv/Year
11/equiv

Year 12/equiv
Certificate/diploma
Bachelor degree or higher

employment_0

Employment status

Type:
Label:

Range:
Unique values:

Tabulation:

Numeric (byte)

employment

[0,3]

3

Freq. Numeric

1,353 0
211 2
304 3

Units: 1
Missing .: 0/1,868
Label
Employed/working

Unemployed and looking for work
Neither working nor looking for
work

card_none_0

Health care card status

Type: Numeric (float)
Label: yesno
Range: [0,1] Units: 1
Unique values: 2 Missing .: 0/1,868
Tabulation: Freq. Numeric Label
473 © No
1,395 1 VYes
illness_t Long-term illness status
Type: Numeric (byte)
Label: yesno
Range: [0,1] Units: 1
Unique values: 2 Missing .: 0/1,868
Tabulation: Freq. Numeric Label
1,353 o No
515 1 Yes
health_o Self-rated health
Type: Numeric (byte)
Label: health
Range: [1,5] Units: 1
Unique values: 5 Missing .: 0/1,868
Tabulation: Freq. Numeric Label
102 1 Excellent
580 2 Very good
779 3 Good
319 4 Fair
88 5 Poor
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live_alone_© Live alone?
Type: Numeric (float)
Label: yesno
Range: [0,1] Units: 1
Unique values: 2 Missing .: 0/1,868
Tabulation: Freq. Numeric Label
1,629 o No
239 1 Yes
incomerec2_t Ability to manage on available income
Type: Numeric (float)
Label: incomerec
Range: [1,2] Units: 1
Unique values: 2 Missing .: 0/1,868
Tabulation: Freq. Numeric Label
1,649 1 Easily/Not too bad
219 2 Difficult some of the time

psychpast_visited_0

Visited psychologist or counsellor in 12 months

Type: Numeric (float)
Label: yesno
Range: [0,1] Units: 1
Unique values: 2 Missing .: 0/1,868
Tabulation: Freq. Numeric Label
1,078 o No
790 1 Yes
antidepressants_0 Currently using antidepressants?
Type: Numeric (float)
Label: yesno
Range: [0,1] Units: 1
Unique values: 2 Missing .: 0/1,868
Tabulation: Freq. Numeric Label
1,452 o No
416 1 Yes
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cd "c:\Stata"

clear all _
use "C:\Stata\TargetD_MERGED_edited.dta", replace

global var_sid study_id

global var_reg group phqdep_total_impute_t clinic_0 risk
age_num_0 gender_0 costintv SAl_costintv SA2_costintv

global var_imp costtothealthprof_2 costtotervisit_2
costtotovnstay_2 costtotdiagtest_2 costtotmed_2
costtothealthprof_3 costtotervisit_3 costtotovnstay_3
costtotdiagtest_3 costtotmed_3
costtotprodloss_2 costtotprodloss_3
AQoL8DUtiTity_1 AQoL8DUtility_2 AQoL8DUtility_3
phgdep_total_impute_2 phqdep_total_impute_3

global var_adj education_rec_0 employment_0O
card_none_0 illness_t health_0 T1ive_alone_0
incomerec2_t psychpast_visited_0 antidepressants_0

keep $var_sid $var_reg $var_imp $var_adj
order $var_sid $var_reg $var_imp $var_adj

save "C:\Stata\TargetD_MERGED_inscope.dta", replace

clear all _
use "C:\Stata\TargetD_MERGED_inscope.dta", replace

gen costhealthsector_2 = costtothealthprof_2 + costtotervisit_2 +
costtotovnstay_2 + costtotdiagtest_2 +
costtotmed_2 + costintv
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gen costhealthsector_3 = costtothealthprof_3 + costtotervisit_3 +
costtotovnstay_3 + costtotdiagtest_3 +
costtotmed_3

costhealthsectortot = costhealthsector_2 + costhealthsector_3

costsocietal_2 = costhealthsector_2 + costtotprodloss_2
costsocietal_3 = costhealthsector_3 + costtotprodloss_3

costsocietaltot = costsocietal_2 + costsocietal_3

galy_2 = 0.5*(AQoL8DUtility_1 + AQoL8DUtility_2)*(3/12)
galy_3 = 0.5*(CAQoL8DUtiTlity_2 + AQoL8DUtility_3)*(9/12)
galytot = qaly_2 + qaly_3

gIlm costhealthsector_2 1i.group phqgdep_total_impute_t i.clinic_0 1i.risk, family(gamma) Tink
(log) eform

glm costhealthsector_2 1i.group phqgdep_total_impute_t i.clinic_0 if risk==1, familly(gamma)
1ink(Tog) eform
glm costhealthsector_2 1i.group phqgdep_total_impute_t i.clinic_0 if risk==2, familly(gamma)
1ink(Tog) eform
glm costhealthsector_2 1i.group phqgdep_total_impute_t i.clinic_0 if risk==3, familly(gamma)
1ink(Tog) eform

%1mfcostsocieta1_2 i.group phgdep_total_impute_t i.clinic_0 i.risk, family(gamma) Tink(log
eform

glm cos%societa]_z i .group phqgdep_total_impute_t i.clinic_0 if risk==1, family(gamma) Tink
(log) eform
glm cos%societa]_z i.group phqgdep_total_impute_t i.clinic_0 if risk==2, family(gamma) Tink
(log) eform
gIlm costsocietal_2 1i.group phqgdep_total_impute_t i.clinic_0 if risk==3, family(gamma) Tink
(log) eform

glm costhealthsectortot 1i.group phgdep_total_impute_t i.clinic_0 1i.risk, family(gamma)
1ink(Tog) eform

gIlm costhealthsectortot 1i.group phqdep_total_impute_t i.clinic_0 if risk==1, family(gamma)
Tink(Tog) eform
gIlm costhealthsectortot 1i.group phqdep_total_impute_t i.clinic_0 if risk==2, family(gamma)
1ink(Tog) eform
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gIm costhealthsectortot i.group phqdep_total_impute_t i.clinic_0 1

Tink(Tog) eform

glm costsocietaltot i.group phqdep_total_impute_t i.clinic_0 i.risk, family(gamma) Tink(

Tog) eform

glm costsocietaltot 1i.group phqdep_total_impute_t i.clinic_0 if risk==1, family(gamma)

1ink(Tog) eform

glm costsocietaltot 1i.group phqdep_total_impute_t i.clinic_0 if risk==2, family(gamma)

1ink(Tog) eform

glm costsocietaltot 1i.group phqdep_total_impute_t i.clinic_0 if risk==3, family(gamma)

1ink(Tog) eform

glm qaly_2 i.group AQoL8DUtility_1 phqdep_total_impute_t
gaussian) Tlink(identity)

glm qaly_2 i.group AQoL8DUtility_1 phqdep_total_impute_t
gaussian) link(identity)
glm qaly_2 i.group AQoL8DUtility_1 phqdep_total_impute_t
gaussian) link(identity)
glm qaly_2 i.group AQoL8DUtility_1 phqdep_total_impute_t
gaussian) link(identity)

glm galytot i.group AQoL8DUtility_1 phqdep_total_impute_t
gaussian) link(identity)

glm galytot i.group AQoL8DUtility_1 phqdep_total_impute_t
gaussian) link(identity)
glm galytot i.group AQoL8DUtility_1 phqdep_total_impute_t
gaussian) link(identity)
glm galytot i.group AQoL8DUtility_1 phqdep_total_impute_t
gaussian) link(identity)

i.clinic_0 i.risk, family(

i.clinic_0 if risk==1, family(
i.clinic_0 if risk==2, family(
i.clinic_0 if risk==3, family(

i.clinic_0 i.risk, family(

i.clinic_0 if risk==1, family(
i.clinic_0 if risk==2, family(
i.clinic_0 if risk==3, family(
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cd "c:\Sstata"

clear all .
use "C:\Stata\TargetD_MERGED_edited.dta", replace

global var_sid study_id

global var_reg group phqgdep_total_impute_t clinic_0 risk
age_num_0 gender_0 costintv SAl_costintv SA2_costintv

global var_imp costtothealthprof_2 costtotervisit_2
costtotovnstay_2 costtotdiagtest_2 costtotmed_2
costtothealthprof_3 costtotervisit_3 costtotovnstay_3
costtotdiagtest_3 costtotmed_3
costtotprodloss_2 costtotprodloss_3
AQoL8DUtiTity_1 AQoL8DUtility_2 AQoL8DUtility_3
phgdep_total_impute_2 phqdep_total_impute_3

global var_adj education_rec_0 employment_0O
card_none_0 illness_t health_0 Tive_alone_0
incomerec2_t psychpast_visited_0 antidepressants_0

keep $var_sid $var_reg $var_imp $var_adj
order $var_sid $var_reg $var_imp $var_adj

save "C:\Stata\TargetD_MERGED_inscope.dta", replace

clear all .
use "C:\Stata\TargetD_MERGED_inscope.dta", replace

costtothealthprof_2_imp = costtothealthprof_2
costtotervisit_2_imp = costtotervisit_2
costtotovnstay_2_imp costtotovnstay_2
costtotdiagtest_2_imp = costtotdiagtest_2
costtotmed_2_imp = costtotmed_2

costtothealthprof_3_imp = costtothealthprof_3
costtotervisit_3_imp = costtotervisit_3
costtotovnstay_3_imp costtotovnstay_3
costtotdiagtest_3_imp = costtotdiagtest_3
costtotmed_3_imp = costtotmed_3

costtotprodloss_2_imp = costtotprodloss_2
costtotprodloss_3_imp = costtotprodloss_3

AQoL8DUtility_1_imp = AQoL8DUtility_1
AQoL8DUtility_2_1imp = AQoL8DUtility_2
AQoL8DUtiTity_3_imp = AQoL8DUtility_3

phgdep_total_impute_2_imp = phgdep_total_impute_2
phgdep_total_impute_3_imp phgdep_total_impute_3
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costtotdiagtest_2_1imp costtotmed_2_imp costtothealthprof_3_imp
costtotervisit_3_imp costtotovnstay_3_imp costtotdiagtest_3_imp
costtotmed_3_imp costtotprodloss_2_imp costtotprodloss_3_imp
AQoL8DUtility_1 imp AQoL8DUtility_2_imp AQoL8DUtility_3_imp
phgdep_total_impute_2_imp phqgdep_total_impute_3_imp

mi register regular $var_reg $var_adj

mi impute chained

(pmm, knn(10)) AQoL8DUtility_1_imp AQoL8DUtility_2_imp AQoL8DUtility_3_imp
phgdep_total_impute_2_imp phqgdep_total_impute_3_imp
costtothealthprof_2_imp costtotervisit_2_imp costtotovnstay_2_imp
costtotdiagtest_2_imp costtotmed_2_imp costtothealthprof_3_imp
costtotervisit_3_imp costtotovnstay_3_imp costtotdiagtest_3_imp
costtotmed_3_imp costtotprodloss_2_imp costtotprodloss_3_imp

= i.group i.gender_0 i.clinic_0 age_num_0 education_rec_0 psychpast_visited_0,

by (risk) add(100) burnin(lOO) rseed(2812281) dots

i passive: gen costhealthsector_2_imp = costtothealthprof_2_imp + costtotervisit_2_imp +

costtotovnstay_2_imp + costtotdiagtest_2_imp +
costtotmed_2_1imp + costintv . )
costtothealthprof_3_imp + costtotervisit_3_imp +

i passive: gen costhealthsector_3_imp

costtotovnstay_3_imp + costtotdiagtest_3_imp +
_ _ ) costtotmed_3_imp ) )
mi passive: gen costhealthsectortot_imp = costhealthsector_2_imp + costhealthsector_3_imp

mi passive: gen costsocietal_2_imp = costhealthsector_2_imp + costtotprodloss_2_imp
mi passive: gen costsocietal_3_imp = costhealthsector_3_imp + costtotprodloss_3_imp
mi passive: gen costsocietaltot_imp = costsocietal_2_imp + costsocietal_3_imp

mi passive: gen galy_2_imp = 0.5*(AQoL8DUtility_1_imp + AQoL8DUtility_2_imp)*(3/12)
mi passive: gen qaly_3_imp 0.5*(AQoL8DUtiTity_2_imp + AQoL8DUtility_3_imp)*(9/12)
mi passive: gen galytot_imp = galy_2_imp + galy_3_imp

mi passive: gen SAl_costhealthsector_2_imp = costtothealthprof_2_imp +
costtotervisit_2_imp +

costtotovnstay_2_imp + costtotdiagtest_2_imp
+
costtotmed_2_imp + SAl_costintv
mi passive: gen SAl_costhealthsectortot_imp = SAl_costhealthsector_2_imp +
costhealthsector_3_imp

mi passive: gen SAl_costsocietal_2_imp = SAl_costhealthsector_2_imp + costtotprodloss_2_imp
mi passive: gen SAl_costsocietaltot_imp = SAl_costsocietal_2_imp + costsocietal_3_imp

mi passive: gen SA2_costhealthsector_2_imp = costtothealthprof_2_imp +
costtotervisit_2_imp +

costtotovnstay_2_imp + costtotdiagtest_2_imp
+
costtotmed_2_imp + SA2_costintv
mi passive: gen SA2_costhealthsectortot_imp = SA2_costhealthsector_2_imp +
costhealthsector_3_imp

mi passive: gen SA2_costsocietal_2_imp = SA2_costhealthsector_2_imp + costtotprodloss_2_imp
mi passive: gen SA2_costsocietaltot_imp = SA2_costsocietal_2_imp + costsocietal_3_imp

describe, short
save "C:\Stata\TargetD_MERGED_MI_update.dta",

replace

clear all
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use "C:\Stata\TargetD_MERGED_MI_update.dta", clear
describe, short

mi estimate, eform post: glm costhealthsector_2_imp i.group phgdep_total_impute_t i
clinic_0 i.risk, family(gamma) Tink(log)
mimrgns group, predict(xb) eform

mi estimate, eform post: glm costhealthsector_2_imp i.group phgdep_total_impute_t i
clinic_0 if risk==1, family(gamma) Tlink(log)
mimrgns group, predict(xb) eform

mi estimate, eform post: glm costhealthsector_2_imp i.group phgdep_total_impute_t i
clinic_0 if risk==2, family(gamma) link(log)
mimrgns group, predict(xb) eform

mi estimate, eform post: glm costhealthsector_2_imp i.group phgdep_total_impute_t i
clinic_0 if risk==3, family(gamma) link(log)
mimrgns group, predict(xb) eform

mi estimate, eform post: glm costhealthsectortot_imp i.group phgdep_total_impute_t i
clinic_0 i.risk, family(gamma) Tink(log)
mimrgns group, predict(xb) eform

mi estimate, eform post: glm costhealthsectortot_imp i.group phgdep_total_impute_t i
clinic_0 if risk==1, family(gamma) Tlink(log)
mimrgns group, predict(xb) eform

mi estimate, eform post: glm costhealthsectortot_imp i.group phgdep_total_impute_t i
clinic_0 if risk==2, family(gamma) link(log)
mimrgns group, predict(xb) eform

mi estimate, eform post: glm costhealthsectortot_imp i.group phgdep_total_impute_t i
clinic_0 if risk==3, family(gamma) link(log)
mimrgns group, predict(xb) eform

mi estimate, eform post: glm costsocietal_2_imp i.group phgdep_total_impute_t i.clinic_0 i
.risk, family(gamma) Tink(log)
mimrgns group, predict(xb) eform

mi estimate, eform post: glm costsocietal_2_imp i.group phgdep_total_impute_t i.clinic_0
if risk==1, family(gamma) 1ink(Tlog)
mimrgns group, predict(xb) eform

mi estimate, eform post: glm costsocietal_2_imp i.group phgdep_total_impute_t i.clinic_0
if risk==2, family(gamma) 1ink(Tlog)
mimrgns group, predict(xb) eform

mi estimate, eform post: glm costsocietal_2_imp i.group phgdep_total_impute_t i.clinic_0
if risk==3, family(gamma) 1ink(log)
mimrgns group, predict(xb) eform

mi estimate, eform post: glm costsocietaltot_imp i.group phgdep_total_impute_t i.clinic_0
i.risk, family(gamma) Tink(log)
mimrgns group, predict(xb) eform
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mi estimate, eform post: glm costsocietaltot_imp i.group phqdep_total_impute_t i.clinic_0
if risk==1, family(gamma) 1ink(Tlog)
mimrgns group, predict(xb) eform

mi estimate, eform post: glm costsocietaltot_imp i.group phqdep_total_impute_t i.clinic_0
if risk==2, family(gamma) Tink(Tlog)
mimrgns group, predict(xb) eform

mi estimate, eform post: glm costsocietaltot_imp i.group phqdep_total_impute_t i.clinic_0
if risk==3, family(gamma) 1ink(Tlog)
mimrgns group, predict(xb) eform

mi estimate: glm galy_2_imp i.group AQoL8DUtility_1_imp phqgdep_total_impute_t i.clinic_0 i
.risk, family(gaussian) link(identity)
mimrgns group, predict(xb)

mi estimate: glm_galy_2_imp i.group AQoL8DUtility_1_imp phqdep_total_impute_t i.clinic_0
if risk==1, family(gaussian) link(identity)
mimrgns group, predict(xb)

mi estimate: glm_galy_2_imp i.group AQoL8DUtility_1_imp phqdep_total_impute_t i.clinic_0
if risk==2, family(gaussian) link(identity)
mimrgns group, predict(xb)

mi estimate: glm_galy_2_imp i.group AQoL8DUtility_1 imp phqdep_total_impute_t i.clinic_0
if risk==3, family(gaussian) link(identity)
mimrgns group, predict(xb)

mi estimate: glm galytot_imp 1i.group AQoL8DUtility_1_imp phqdep_total_impute_t i.clinic_0
i.risk, family(gaussian) link(identity)
mimrgns group, predict(xb)

mi estimate: glm galytot_imp i.group AQoL8DUtility_1_imp phqdep_total_impute_t i.clinic_0
if risk==1, family(gaussian) Tlink(identity)
mimrgns group, predict(xb)

mi estimate: glm galytot_imp i.group AQoL8DUtility_1_imp phqdep_total_impute_t i.clinic_0
if risk==2, family(gaussian) Tlink(identity)
mimrgns group, predict(xb)

mi estimate: glm galytot_imp i.group AQoL8DUtility_1_imp phqdep_total_impute_t i.clinic_0
if risk==3, family(gaussian) Tlink(identity)
mimrgns group, predict(xb)

NOTE: Sensitivity analysis SAT involves the inclusion
of sunk costs for the development of the Target-D
CPT (cost of screening changed from $0.96 per
person to $2.30 per person).

mi estimate, eform post: glm SAl_costhealthsector_2_imp i.group phgdep_total_impute_t i
clinic_0 i.risk, family(gamma) Tink(log)

mi estimate, eform post: glm SAl_costhealthsector_2_imp i.group phgdep_total_impute_t i
clinic_0 if risk==1, family(gamma) Tlink(log)
mi estimate, eform post: glm SAl_costhealthsector_2_imp i.group phgdep_total_impute_t i
clinic_0 if risk==2, family(gamma) Tlink(log)
mi estimate, eform post: glm SAl_costhealthsector_2_imp i.group phgdep_total_impute_t i
clinic_0 if risk==3, family(gamma) Tlink(log)
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mi estimate, eform post: glm SAl_costhealthsectortot_imp i.group phqdep_tota
clinic_0 i.risk, family(gamma) Tink(log)

mi estimate, eform post: glm SAl_costhealthsectortot_imp i.group phgdep_total_impute_t i
clinic_0 if risk==1, family(gamma) link(log)
mi estimate, eform post: glm SAl_costhealthsectortot_imp i.group phgdep_total_impute_t i
clinic_0 if risk==2, family(gamma) link(log)
mi estimate, eform post: glm SAl_costhealthsectortot_imp i.group phgdep_total_impute_t i
clinic_0 if risk==3, family(gamma) Tlink(log)

mi estimate, eform post: glm SAl_costsocietal_2_imp i.group phqdep_total_impute_t i
clinic_0 i.risk, family(gamma) Tink(log)

mi estimate, eform post: glm SAl_costsocietal_2_imp i.group phgdep_total_impute_t i
clinic_0 if risk==1, family(gamma) link(log)
mi estimate, eform post: glm SAl_costsocietal_2_imp i.group phgdep_total_impute_t i
clinic_0 if risk==2, family(gamma) link(log)
mi estimate, eform post: glm SAl_costsocietal_2_imp i.group phgdep_total_impute_t i
clinic_0 if risk==3, family(gamma) link(log)

mi estimate, eform post: glm SAl_costsocietaltot_imp i.group phgdep_total_impute_t 1.
clinic_0 i.risk, family(gamma) Tink(log)

mi estimate, eform post: glm SAl_costsocietaltot_imp i.group phqgdep_total_impute_t 1.
clinic_0 if risk==1, family(gamma) link(log)
mi estimate, eform post: glm SAl_costsocietaltot_imp i.group phgdep_total_impute_t 1.
clinic_0 if risk==2, family(gamma) Tlink(log)
mi estimate, eform post: glm SAl_costsocietaltot_imp i.group phgdep_total_impute_t 1.

clinic 0 if risk==3, family(gamma) Tink(log) NOTE: Sensitivity analysis SA2 involves a higher unit

cost for the clinician-guided iCBT course delivered to
the moderate prognostic group (unit/cost changed
from $132 per person to $222 per person).

mi estimate, eform post: glm SA2_costhealthsector_2_imp i.group phgdep_total_impute_t i
clinic_0 1i.risk, family(gamma) Tink(log)

mi estimate, eform post: glm SA2_costhealthsector_2_imp i.group phgdep_total_impute_t i
clinic_0 if risk==1, family(gamma) Tlink(log)
mi estimate, eform post: glm SA2_costhealthsector_2_imp i.group phgdep_total_impute_t i
clinic_0 if risk==2, family(gamma) Tlink(log)
mi estimate, eform post: glm SA2_costhealthsector_2_imp i.group phgdep_total_impute_t i
clinic_0 if risk==3, family(gamma) Tlink(log)

mi estimate, eform post: glm SA2_costhealthsectortot_imp i.group phgdep_total_impute_t i
clinic_0 i.risk, family(gamma) Tink(log)

mi estimate, eform post: glm SA2_costhealthsectortot_imp i.group phqgdep_total_impute_t i
clinic_0 if risk==1, family(gamma) Tlink(log)
mi estimate, eform post: glm SA2_costhealthsectortot_imp i.group phqgdep_total_impute_t i
clinic_0 if risk==2, family(gamma) Tink(log)
mi estimate, eform post: glm SA2_costhealthsectortot_imp i.group phqgdep_total_impute_t i
clinic_0 if risk==3, family(gamma) Tlink(log)

mi estimate, eform post: glm SA2_costsocietal_2_imp i.group phqgdep_total_impute_t 1.
clinic_0 i.risk, family(gamma) Tink(log)

mi estimate, eform post: glm SA2_costsocietal_2_imp i.group phgdep_total_impute_t 1.
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= amily(gamma) (log)
mi estimate, eform post glm SA2_costsocietal_2_imp i.group phqdep_total_impute_t 1.
clinic_0 if risk==2, family(gamma) link(log)
mi estimate, eform post: glm SA2_costsocietal_2_imp i.group phqdep_total_impute_t 1.
clinic_0 if risk==3, family(gamma) Tlink(log)

mi estimate, eform post: glm SA2_costsocietaltot_imp 1i.group phqgdep_total_impute_t i
clinic_0 i.risk, family(gamma) Tink(log)

mi estimate, eform post: glm SA2_costsocietaltot_imp i.group phgdep_total_impute_t i
clinic_0 if risk==1, family(gamma) link(log)
mi estimate, eform post: glm SA2_costsocietaltot_imp i.group phgdep_total_impute_t i
clinic_0 if risk==2, family(gamma) link(log)
mi estimate, eform post: glm SA2_costsocietaltot_imp i.group phgdep_total_impute_t i
clinic_0 if risk==3, family(gamma) link(log)

mi estimate, eform post: glm costhealthsector_2_imp i.group phqdep_total_impute_t 1.
clinic_0 1. r1sk age_num_0 i.gender_0 i.education_rec_0 i.employment_0 i.card_none_0 1.
illness_t 1i.health_0 1i.live_alone_0 1i.incomerec2_t 1. psychpast visited_0 1.
antidepressants_0, family(gamma) 1ink(log)

mi estimate, eform post: glm costhealthsector_2_imp i.group phqgdep_total_impute_t i.

clinic_0 age_num_0 i.gender_0 i.education_rec_0 1. emp]oyment 0 i.card_none_0 i.illness_t
i.health_0 1i.live_alone_0 i.incomerec2_t i.psychpast_visited_0 i.antidepressants_0 if

risk==1, family(gamma) 1ink(1og)

mi estimate, eform post: glm costhealthsector_2_imp i.group phqgdep_total_impute_t i.

clinic_0 age_num_0 i.gender_0 i.education_rec_0 1i.employment_0 1i.card_none_0 i.illness_t
i.health_0 1i.live_alone_0 i.incomerec2_t i.psychpast_visited_0 i.antidepressants_0 if

risk==2, family(gamma) Tink(Tog)

mi estimate, eform post: glm costhealthsector_2_imp i.group phqgdep_total_impute_t i.

clinic_0 age_num_0 i.gender_0 i.education_rec_0 1i.employment_0 i.card_none_0 i.illness_t
i.health_0 1i.live_alone_0 i.incomerec2_t i.psychpast_visited_0 i.antidepressants_0 if

risk==3, family(gamma) Tink(Tog)

mi estimate, eform post: glm costhealthsectortot_imp i.group phgdep_total_impute_t 1.
clinic_0 i.risk age_num_0 i.gender_0 i.education_rec_0 i.employment_0 i.card_none_0 i.
illness_t i.health_0 1i.live_alone_0 i.incomerec2_t i.psychpast_visited_0 1.
antidepressants_0, family(gamma) Tlink(log)

mi estimate, eform post: glm costhealthsectortot_imp i.group phgdep_total_impute_t i.

clinic_0 age_num_0 i.gender_0 i.education_rec_0 1i.employment_0 1i.card_none_0 i.illness_t
i.health_0 i.live_alone_0 i.incomerec2_t i.psychpast_visited_0 i.antidepressants_0 if

risk==1, family(gamma) Tink(Tog)

mi estimate, eform post: glm costhealthsectortot_imp i.group phgdep_total_impute_t 1i.

clinic_0 age_num_0 i.gender_0 i.education_rec_0 i.employment_0 1i.card_none_0 i.illness_t
i.health_0 1i.live_alone_0 i.incomerec2_t i.psychpast_visited_0 i.antidepressants_0 if

risk==2, family(gamma) Tink(log)

mi estimate, eform post: glm costhealthsectortot_imp i.group phqdep_total_impute_t_i.

clinic_0 age_num_0 i.gender_0 i.education_rec_0 1. emp]oyment 0 1d.card_none_0 i.illness_t
i.health_0 1i.live_alone_0 i.incomerec2_t i.psychpast_visited_0 i.antidepressants_0 if

risk==3, family(gamma) 1ink(1og)

mi estimate, eform post: glm costsocietal_2_imp i.group phgdep_total_impute_t 1i.clinic_0 i
.risk age_num_0 i.gender_0 i.education_rec_0 i.employment_0 i.card_none_0 i.illness_t 1.
health_0 1i.live_alone_0 1i.incomerec2_t i.psychpast_visited_0 i.antidepressants_0, family
(gamma) 1ink(log)

mi estimate, eform post: glm costsocietal_2_imp 1i.group phgdep_total_impute_t i.clinic_0
age_num_0 1i.gender_0 i.education_rec_0 i.employment_0 i.card_none_0 i.illness_t 1.
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th_0 .l1ve_alone_0 1.1ncomerec2_t 1.psychpast_visited_ . depressants_0 1
——1 fam11y(gamma) Tink(Tog)
mi est1mate eform post: glm costsocietal_2_imp i.group phqdep_total_impute_t i.clinic_0
age_num_0 1. %ender 0 i.education_rec_0 i.employment_0 1i.card_none_0 i.illness_t 1.
health_0 ive_alone_0 i.incomerec2_t i.psychpast_visited_0 1. ant1depressants 0 if risk
==2, fam11y(gamma) Tink(Tog)
mi est1mate eform post: glm costsocietal_2_imp i.group phqdep_total_impute_t i.clinic_0
age_num_0 1. %ender_o i.education_rec_0 i.employment_0 1i.card_none_0 i.illness_t 1.
health_0 ive_alone_0 i.incomerec2_t i.psychpast_visited_0 1i.antidepressants_0 if risk
==3, fam11y(gamma) Tink(Tog)

mi estimate, eform post: glm costsocietaltot_imp i. %roup phqdep_total_impute_t i.clinic_0
i.risk age_num_0 i.gender_0 i.education_rec_0 i.employment_O0 i.card_none_0 i.illness_t i

.health_0 i.live_alone_0 1i.incomerec2_t i.psychpast_visited_0 i.antidepressants_O,
fami]y(gamma) Tink(Tog)

mi estimate, eform post: glm costsocietaltot_imp i.group phqgdep_total_impute_t i.clinic_0
age_num_0 1. %ender 0 i.education_rec_0 i.employment_0 i.card_none_0 i.illness_t 1.
health_0 ive_alone_0 i.incomerec2_t i.psychpast_visited_0 1. ant1depressants 0 if risk
==1, fam11y(gamma) Tink(Tog)

mi est1mate eform post: glm costsocietaltot_imp i.group phqdep_total_impute_t i.clinic_0
age_num_0 1. %ender_o i.education_rec_0 i.employment_0 1i.card_none_0 i.illness_t 1.
health_0 ive_alone_0 i.incomerec2_t i.psychpast_visited_0 1i.antidepressants_0 if risk
==2, fam11y(gamma) Tink(Tog)

mi est1mate eform post: glm costsocietaltot_imp i.group phqdep_total_impute_t i.clinic_0
age_num_0 1. %ender_o i.education_rec_0 i.employment_0 1i.card_none_0 i.illness_t 1.
health_0 ive_alone_0 i.incomerec2_t i.psychpast_visited_0 1i.antidepressants_0 if risk
==3, fam11y(gamma) Tink(Tog)

mi estimate: glm galy_2_imp i.group AQoL8DUtility_1_imp phqgdep_total_impute_t i.clinic_0 i
.risk age_num_0 i.gender_0 i.education_rec_0 i.employment_0 1i.card_none_0 i.illness_t 1.
health_0 1i.live_alone_0 1i.incomerec2_t i.psychpast_visited_0 i.antidepressants_0, family
(gaussian) link(identity)

mi estimate: glm galy_2_imp i.group AQoL8DUtiTlity_1_imp phgdep_total_impute_t i.clinic_0
age_num_0 i.gender_0 1i.education_rec_0 i.employment_0 i.card_none_0 i.illness_t 1.
health_0 1i.live_alone_0 1i.incomerec2_t i.psychpast_visited_0 i.antidepressants_0 if risk
==1l fam11y(gauss1an) link(identity)

mi est1mate glm galy_2_imp i.group AQoL8DUtility_1_imp phqdep_total_impute_t i.clinic_0
age_num_0 i.gender_0 i.education_rec_0 i.employment_0 i.card_none_0 i.illness_t 1.
health_0 1i.live_alone_0 1.incomerec2_t i.psychpast_visited_O 1.antidepressants_0 if risk
==2, family(gaussian) link(identity)

mi estimate: glm galy_2_imp i.group AQoL8DUtility_1 imp phqdep_total_impute_t i.clinic_0
age_num_0 i.gender_0 1i.education_rec_0 i.employment_0 i.card_none_0 i.illness_t 1.
health_0 1i.live_alone_0 1i.incomerec2_t i.psychpast_visited_0 1. ant1depressants 0 if risk
==3, fami]y(gauss1an) Tink(identity)

mi estimate: glm galytot_imp i.group AQoL8DUtility_1_imp phqdep_total_impute_t i.clinic_0
i.risk age_num_0 i.gender_0 1. education_ rec_0 i.employment_0 i.card_none_0 i.illness_t i

.health_0 i.live_alone_0 1i.incomerec2_t i.psychpast_visited_0 i.antidepressants_O,
fami]y(gaussian) 1ink(identity)

mi estimate: glm galytot_imp i.group AQoL8DUtility_1_imp phqgdep_total_impute_t i.clinic_0
age_num_0 1. %ender_o i.education_rec_0 i.employment_0 1i.card_none_0 i.illness_t 1.
health_0 ive_alone_0 i.incomerec2_t i.psychpast_visited_0 1i.antidepressants_0 if risk
==1l fam11y(gauss1an) lTink(identity)

mi est1mate glm galytot_imp 1i.group AQoL8DUtility_1_imp phqgdep_total_impute_t i.clinic_0
age_num_0 1. %ender 0 i.education_rec_0 i.employment_0 7i.card_none_0 i.illness_t 1.
health_0 ive_alone_0 i.incomerec2_t i.psychpast_visited_0 1. ant1depressants 0 if risk
==2, fam11y(gauss1an) Tink(identity)

mi est1mate glm galytot_imp 1i.group AQoL8DUtility_1_imp phqdep_total_impute_t i.clinic_0
age_num_0 1. %ender_o i.education_rec_0 i.employment_0 1i.card_none_0 i.illness_t 1.
health_0 ive_alone_0 i.incomerec2_t i.psychpast_visited_0 1i.antidepressants_0 if risk

=r fam11y(gaussian) Tink(identity)
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clear all

cd "c:\Sstata"

clear all
696 use "C:\Stata\TargetD_MERGED_inscope.dta", replace
697
698 global var_sid study_id
699
VA\[VB O 1obal var_reg group phgdep_total_impute_t clinic_0 risk
701 age_num_0 gender_0 costintv SAl_costintv SA2_costintv
702
VOOERE O 1obal var_imp costtothealthprof_2 costtotervisit_2
704 costtotovnstay_2 costtotdiagtest_2 costtotmed_2
705 costtothealthprof_3 costtotervisit_3 costtotovnstay_3
706 costtotdiagtest_3 costtotmed_3
707 costtotprodloss_2 costtotprodloss_3
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708 AQoL8DUt1 I1ty_1 AQoL8DUt1l1ty_2 AQoL8DUt1l1ty_3

788 phgdep_total_impute_2 phqdep_total_impute_3

7

FANREN O 1obal var_adj education_rec_0 employment_0

712 card_none_0 illness_t health_0 Tive_alone_0

7%3 incomerec2_t psychpast_visited_0 antidepressants_0

714

715 keep $var_sid $var_reg $var_imp $var_adj

VAo rder $var_sid $var_reg $var_imp $var_adj

717

718

719

720

721 i: costtothealthprof_2_imp = costtothealthprof_2

722 i: costtotervisit_2_imp = costtotervisit_2

723 i : costtotovnstay_2_imp = costtotovnstay_2

724 i: costtotdiagtest_2_imp = costtotdiagtest_2

7%2 i: costtotmed_2_imp = costtotmed_2

7

727 i: costtothealthprof_3_imp = costtothealthprof_3

728 i: costtotervisit_3_imp = costtotervisit_3

729 i : costtotovnstay_3_imp = costtotovnstay_3

730 i: costtotdiagtest_3_imp = costtotdiagtest_3

7%% i: costtotmed_3_imp = costtotmed_3

7

733 i : costtotprodloss_2_imp = costtotprodloss_2

7%4 i: costtotprodloss_3_imp = costtotprodloss_3

735

736 i: AQoL8DUtiTlity_1_imp = AQoL8DUtility_1

737 i: AQoL8DUtiTity_2_imp = AQoL8DUtility_2

7%8 i: AQoL8DUtiTity_3_imp = AQoL8DUtility_3

7

740 i: phgdep_total_impute_2_imp = phqgdep_total_impute_2

74% i: phgdep_total_impute_3_imp phgdep_total_impute_3

74

743

744

745

746

747

748

749

750

751 i set wide

752

753

754

755 i register imputed costtothealthprof_2_imp costtotervisit_2_imp costtotovnstay_2_imp
756 costtotdiagtest_2_imp costtotmed_2_imp costtothealthprof_3_imp
757 costtotervisit_3_imp costtotovnstay_3_imp costtotdiagtest_3_imp
758 costtotmed_3_imp costtotprodloss_2_imp costtotprodloss_3_imp
759 AQoL8DUtility_1 imp AQoL8DUtility_2_imp AQoL8DUtility_3_imp
720 phgdep_total_impute_2_imp phqgdep_total_impute_3_imp

761

72% i register regular $var_reg $var_adj

7

764

765

766 i passive: costhealthsector_2_imp = costtothealthprof_2_imp + costtotervisit_2_imp +

767 costtotovnstay_2_imp + costtotdiagtest_2_imp +
768 ) ) ) costtotmed_2_1imp + costintv . )
769 passive: costhealthsector_3_imp = costtothealthprof_3_imp + costtotervisit_3_imp +

770 costtotovnstay_3_imp + costtotdiagtest_3_imp +
771 costtotmed_3_imp

772 i passive: costhealthsectortot_imp = costhealthsector_2_imp + costhealthsector_3_imp
773

774 i passive: costsocietal_2_imp = costhealthsector_2_imp + costtotprodloss_2_imp

775 i passive: costsocietal_3_imp = costhealthsector_3_imp + costtotprodloss_3_imp

776 i passive: costsocietaltot_imp = costsocietal_2_imp + costsocietal_3_imp

777

778 i passive: galy_2_imp = 0.5*(AQoL8DUtility_1_imp + AQoL8DUtility_2_imp)*(3/12)

779 i passive: galy_3_imp 0.5*(AQoL8DUtiTity_2_1imp + AQoL8DUtility_3_imp)*(9/12)

780 i passive: galytot_imp = galy_2_imp + qaly_3_imp

781

782

783

784
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save "C:\Stata\TargetD_MERGED_inscope_MI_template.dta”, replace

clear all .
use "C:\Stata\TargetD_MERGED_inscope_MI_template.dta", clear

global var_cov phqgdep_total_impute_t i.clinic_0 1i.risk

preserve

mi impute chained

(pmm, knn(10)) AQoL8DUtility_1_imp AQoL8DUtility_2_imp AQoL8DUtiTity_3_imp
phgdep_total_impute_2_imp phqdep_total_impute_3_imp
costtothealthprof_2_imp costtotervisit_2_imp costtotovnstay_2_ imp
costtotdiagtest_2_imp costtotmed_2_imp costtothealthprof_3_imp
costtotervisit_3_imp costtotovnstay_3_imp costtotdiagtest_3_imp
costtotmed_3_imp costtotprodloss_2_imp costtotprodloss_3_imp

= i.group i.gender_0 1i.clinic_0 age_num_0 education_rec_0 psychpast_visited_0,

by(risk) add(1l) dots

mi passive: replace costhealthsector_2_imp = costtothealthprof_2_imp +
costtotervisit_2_imp +

costtotovnstay_2_imp + costtotdiagtest_2_imp +
costtotmed_2_imp + costintv
mi passive: replace costhealthsector_3_imp = costtothealthprof_3_imp +
costtotervisit_3_imp +
costtotovnstay_3_imp + costtotdiagtest_3_imp +
costtotmed_3_imp
mi passive: replace costhealthsectortot_imp = costhealthsector_2_imp +
costhealthsector_3_imp

mi passive: replace costsocietal_2_imp = costhealthsector_2_imp + costtotprodloss_2_imp
mi passive: replace costsocietal_3_imp = costhealthsector_3_imp + costtotprodloss_3_imp
mi passive: replace costsocietaltot_imp = costsocietal_2_imp + costsocietal_3_imp

mi passive: replace qaly_2_imp = 0.5*(AQoL8DUtility_1_imp + AQoL8DUtiTlity_2_iimp)*(3/12)
mi passive: replace qaly_3_imp = 0.5*(AQoL8DUtility_2_imp + AQoL8DUtiTity_3_imp)*(9/12)
mi passive: replace galytot_imp = galy_2_imp + galy_3_imp

i extract 1, clear

849

850

851

852

853

354 glm galy_2_imp 1i.group AQoL8DUtility_1_imp $var_cov, family(gaussian) Tlink(identity)
55

856 margins, dydx(group)

857 return scalar ql = el(r(table),1,2)

858

859

860
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glm galytot_imp 1i.group AQoL8DUtility_1_1imp . amily(gaussian) Tink(identity)

margins, dydx(group)
return scalar q6 = el(r(table),1,2)

glm costhealthsector_2_imp i.group $var_cov, family(gamma) Tink(Tog) eform

margins, dydx(group)
return scalar cl = el(r(table),1,2)

glm costsocietal_2_imp 1i.group $var_cov, family(gamma) Tink(log) eform

margins, dydx(group)
return scalar c2 = el(r(table),1,2)

glm costhealthsectortot_imp i.group $var_cov, family(gamma) Tlink(log) eform

margins, dydx(group)
return scalar c6 = el(r(table),1,2)

glm costsocietaltot_imp 1i.group $var_cov, family(gamma) Tink(log) eform

margins, dydx(group)
return scalar c7 = el(r(table),1,2)

set seed 19

bootstrap inc_galys_3m=r(ql) inc_costs_hlth_3m=r(cl) inc_costs_sctl_3m=r(c2)
inc_qgalys_12m=r(g6) inc_costs_hlth_12m=r(c6) inc_costs_sctl_12m=r(c7),
reps(10) strata(group) saving(TargetD_Bootstrap_GLM_BS10, replace) : myBS10

use TargetD_Bootstrap_GLM_BS10, clear
estat bootstrap, all
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